| daiin: [ITK-250.1500 xar.doc | Cocrasnen: 25.04.2011 r. \ JIuct: 1 u3 5 |
Nora Kon K-Bo,
cxeme Kon TOCTaBIIUKA HaumeHoBanue geranu XapakTepucTuka IT./u3
I.
Puc.1
1 6537261226 KPOHILITEVH IBUTATEJIA 1
2 6537217207 OCHOBAHUE 1
3 6537217206 CTOJI IOBOPOTHBIIA 1
4 6537262096 [UIAHKA 1
5 6537261228 LITAPHUP 1
6 6537261227 LIIAPHUP 1
7 6537262097 CTOJI BEPXHUI 1
8 6537214199 KOXYX JUCKA 1
9 6537214203 KPBILIIKA BBITSDKKU 1
10 0000632007 T AVKA BJIOKA M20X1 M20x1 1
11 6537443327 LIIAMBA 1
12 0000482042 IITU®DT D5X10 @5x10 2
13 6537443329 OITIOPA ITOBOPOTHOI'O CTOJIA 3
14 6537234314 OChb 1
15 | 00.02.99.02.05 0000661002 KOJIBLIO CTOITOPHOE D=12 UNI 7435 B12 1
16 6537443338 KPBIILIKA TTIPABAS 1
17 0000613075 BMHTM 8X 20 Jles.CL.- UNI 5931 M8x20-L 1
18 6537246446 ®JIAHEL] JIVICKA ITNJIBHOT'O 1
19 0000512038 JIVICK TINJIBHBIN D=250X20X2,8 Z=60 D=250x20x2,8, Z=60 1
20 6537246445 CTVIINLA JUCKA ITNJIBHOTO 1
21 6537443339 KPBIIIKA JIEBAS 1
22 6537275201 LITTMH/EJIb 1
23 6537261230 KOPITYC LITTNHIEJS 1
24 | 00.01.01.01.22 0000483036 [TOILLIMNITHUK 6203-C2-2Z D17X40X12 6203-2Z (17x40x12) 1
25 | 00.02.99.01.03 0000662009 KOJIBLIO CTOITOPHOE D=40 UNI 7437 A40 1
26 6537222248 KOJIECO 3YBYATOE 1
27 | 00.01.01.01.06 0000483160 ITOIILMITHUK 607-ZZ C2 MMB 7X19X6 607-2Z (7x19x6) 1
28 0000672017 ITPYXKUHA D18,8X11,4X0,3 @18,8x11,4x0,3 1
29 6537234307 | OCb 1
30 0000661029 KOJIBIIO CTOITOPHOE D=48 UNI 7435 B48 1
31 | 00.02.99.02.11 0000661006 KOJIbLIO CTOIIOPHOE D=16 UNI 7435 B16 1
32 6537214206 KOXYVYX IMOABUXHBIN B KOMILIL. 1
33 6537443340 [UIAHKA BEPXHSIS 1
34 6537431056 BUHT ®UKCATOP 1
35 5128481028.01 | BTVJIKA 1
36 6537234304 OCb 1
37 6537234306 OCb 1
38 0000457081 BOJIT-MAXOBHWYOK M8X20 ART.732 30 M8x20 2
39 0000613056 BHHT M 8X 25 UNI 5931 XM.OKC. M8x25 2
40 6537243638 JIVICK BJIOKMPOBAHNS CTOJIA 2
41 0000457062 BWHT CIIEL]. M6X20 ART.751-32 M6x20 1
42 6537414180 3ALIUTA JUCA 1
43 6537447152 [IPYXUHA 1
44 6537431055 CUCTEMA TST 1
45 6537257157 KHOIIKA BE3OITACHOCTU 1
46 2508238012 CTEPXXEHb JUIMHHBIN 1
47 0000615032 BUHT M6x30 1
48 6516261208 KOPITYC 1
49 2508238013 CTEPXEHb KOPOTKUI 1
50 0000457060 TAVKA M6 1
51 0000441150 KOJIbLIO NBR70SH-1.78X6.75 1

NHTEPCK{ON

KaTanor 3ammacHBIX JacTEeH U3IAEIIHSI

HetictBurenen c: 25.04.2011 r.

IMNJIA TOPLIOBOUYHA

IITK-250/1500




| daiin: [ITK-250.1500 xar.doc | Cocrasnen: 25.04.2011 r. \ Jucr: 2 u3 5 |
52 6537257158 OCBb I103. I1O I'OPHU3. 1
53 6537234303 OCb 1
54 6516447101 TTPYXKUHA 1
55 6537456058 KJIMH Sp.=2.5mm 1
56 | 00.02.99.02.03 0000661001 KOJIBIIO CTOIIOPHOE D=10 UNI 7435 B10 1
57 6537447146 TTIPYKHA TTPABASL 1
58 6524444092 ITJIACTUHA 1
59 6537431057 BUHT-OUKCATOP 1
60 6537443326 KOJIBITO 1
61 0000457089 TANKA-MAXOBHUUYOK M8 ART.180 50 1
62 6537447147 TIPY)KUHA JIEBAS] 1
63 6537243633 [LIAUBA 1
64 6537234305 OCb 1
65 6537257150 KHOIIKA 1
66 6537447148 TTPYXKUHA BO3BPATH. 1x7.5x13 1
67 6537414198 KOXYX JUCKA 1
69 0000663002 KOJIBIIO A 6 UNI 7433-75 1
70 0000441092 BTVYJIKA OR 2010 1
71 6537275179 OCb 1
72 6537435148 TTJIAHKA 1
73 6537246452 SAIIUTA JVUCKA BEPXHAS 1
74 6537244219 TIJTAHKA-HAKJIAZIKA 1
75 6537264027 KOJIOHKA 3AJTHSIA 1
76 0000642065 OCB B-10X70-ST UNI EN 22338- 1
77 6518264018 3ATJIVIIKA 1
78 6516232140 TAUKA M6 DIN6923 2
79 0000457092 CIIELI-BOJIT M8X20 M8x20 1
80 6537243639 TIJTAHKA BJIOKMPOBAHU A 2
81 0000457080 BOJIT-MAXOBHMYOK M&8X20 ART.732 30 1
82 0000613064 BUHT M 8X 70 UNI 5931 XMM.OKC. M8x70 1
83 0000614099 BHUHT M 8X 65 UNI 5725 OLIMHK. M8x65 1
84 | 00.02.03.01.34 0000617097 BUHT 3.9X 65 UNI 6954 OLITMHK. 4x65 2
85 | 00.02.04.01.39 0000613044 BUHT M 6X 14 UNI 5931 XUM.OKC Mé6x14 2
86 6537435156 TTJTAHKA 1
87 6933251099 TIJINTKA 1
88 6933257127 KHOIIKA 1
89 6537447160 TIPYKMHA 1
90 6933225036 CEKTOP 1
91 6933233040 TIJTACTUHA TTPUDXKUMHA S 1
92 6537231163 BUHT 1
93 6516443226 KOJIBIIO 8+0,2/+0,1X14X0,5 2
94 6537297126 HITTMHAEJL B CBOPE 1
96 0000482043 IITAP D3/8" D9,525 1
97 6540447164 TIPYKMHA 1
110 6537262101 TIJTAHKA HATIPBJISAIIOIIA ST 1
112 6537435150 TIJTAHKA 1
114 0000457095 BOJIT-MAXOBHUYOK M6X20 ART.751.32 M6x20 1
115 6537435149 TIJTAHKA 1
116 6537462059 TIJTAHKA ITOBOPOTHASI 1
117 6522481059 BTVJIKA D=6X10X5 2
118 0000457060 FAVIKA—TPEH_[OTKA M6 ART.750-32 2
119 6537462060 KOMITJI. OCHACTKHN 1
Puc.2
130 6537211235 KOPITYC ABUT'ATEJISL 1
131 6537123139 CTATOP B CBOPE 230B 50I'g 1

NHTEPCK{ON

KaTanor 3ammacHBIX JacTEeH U3IAEIIHSI

HeticrButenen c: 25.04.2011 r.

IMNJIA TOPLIOBOUYHA

IITK-250/1500




| daiin: [ITK-250.1500 xar.doc

| Cocrasnen: 25.04.2011 r. \

Jlucr: 33 5

132 0000481068 KPBIIIKA TTIOJJUINTTHUKA 1
133 | 00.01.01.01.03 0000483104 MHNOJUIMITHUK D=9X26X8 629-2Z 629-27 (9x26x8) 1
134 6537113145 SKOPH 230B 1
136 6537246447 JE®DJIEKTOP 1
137 | 00.01.01.01.30 0000483019 NOJUIMITHUK D=12X32X10 6201-2RS 6201-2RS (12x32x10) 1
138 0000617103 BHUHT 4.8X 90 AB UNI 6954 OLIMHK. 2
139 0000617060 BHUHT 4.8X 50 AB UNI 6954 OLIMHK. 4
140 6537182270 IMPOBOJA MOHTAXHBIN 1
141 0000435152 BTYJIKA 80/110/30 1
0000385026
142 0000385029 KOJIOJJKA MOHTAXHAS OK431 2
143 6537261231 KOPOBKA COEJEHUA 1
144 5102235179 BTVYJIKA N30JIMPYIOIIIAA 1
145 5223435097 ITJIAHKA ITPMDKMMHASA 1
146 0000381004 MMPOBO/JI C BUJIKOM HO5VV-F 2X1 ML.3 1
147 6537246451 KPBIIIIKA 1
148 0000311212 BBIKJIFOYATEJIb 8(8)A 250B 1
149 6537323055 KOHAEHCATOP 110B 220B 1
150 5410316044 IIETKA 230-240B 2
151 6537447151 IMPYXMHA 2
152 6537387030 KOMIUI MIETKOAEPXATEJIA 220-240BB 1
153 6537214204 KPBIIIKA IETKHA 1
154 6537216153 PYUYKA-HAKJTIAIKA BEPXHAA 1
155 6537216154 PYUYKA-HAKIJTAIKA HUXXHAA 1
156 6540165139 BJIOK BJIEKTPOHHBIN 1

NHTEPCK{ON

KaTanor 3ammacHBIX JacTEeH U3IAEIIHSI

HetictBurenen c: 25.04.2011 r.

IMNJIA TOPLIOBOUYHA

IITK-250/1500




| daiin: [ITK-250.1500 xar.doc | Cocrasnen: 25.04.2011 r. \ JIuct: 4 u3 5 |

Puc.1

MHTEP:KQN Karajor 3arracHBIX 9acTel U3SITHST

Jevicteutenen ¢: 25.04.2011 r. [TAJIA TOPLIOBOYHA I IITK-250/1500




| daiin: [ITK-250.1500 xar.doc | Cocrasnen: 25.04.2011 r. \

Jlucr: 5u3z 5 |

Puc.2

NHTEPCK{ON

KaTanor 3ammacHBIX JacTEeH U3IAEIIHSI

HetictBurenen c: 25.04.2011 r.

IMNJIA TOPLIOBOUYHA

IITK-250/1500




